Week 3 I\/Ionday

-Ovm+ Sechan 2% # 114\9
.-(m\ Miyed \,\ksakm Problems oW |cakko\nm(-€om

Quiz domorrmw 2% F

—

st Thws 30T
2%.\-4, 23.6-1, 234, 29.3-4

l) Do S\ASa Hw
2) Pracke Problews . leahhoward-Gm
BRIN& CALCULATOR

81 o\ Parkal :Ff‘ad\‘ms Co/\(‘cl

Shorkou S T a\_Ls\Qx‘\'b\‘l'C.
S Sx+l d)L
X+ Sit
- S Sx+1 Ai
X (#45)
At - AL B A,?;'-Ca/\sjm\'\'s
X(L+S) X 1+S
“porkal fachon  expamsion " |
{ Mu\\ﬁp\\, \’J A(41S) )
Su+l = A x(ss) + B x(uss)
x A+S

1)
SYal = Aldas) + B2 “Masl-t/'eq\‘“-k""



SN+l =

A(345) + BX  "Masks Equabon

Sub o_\gpmqr'w\c Valws inde  Maste” %ua&x‘m

X=0 t |= AlS)
A= =
A=-5 1  -24= B(s)
= 24
s
| Concluda :
X ((+S) X A4S
- 1.1 24 [
- © 3% T 3w
\ = ANNES etV N\ dw
rv\-c&ra\ SS < + < ;(,1-5\
Ex S p V| dl
£ (1) (2EH)
b AL B L & ABC:#
L (=-1) (L) X A= 24\

Ax\=

Pt

A (L) (Tr)) + BX (u+1) + CX (A1)

A AG-DW) & B (340 ) 4 Cxm Yr)
x [24d




\:;" ' -

Sb in Valwes Fhat make Some Yeomsi= o

=0 1= AGNO)
= -l
'x"‘=o
1=1 2= BM(3)
B= =
ti= o
22X = -\ l
A = *-'_EL "_i_‘_\ =
o
> =
B 1=
S L
C:
AV . B
L)) X 1-\
= L+ Z.
>C 3
\ndeqra)= g( z. L
.3 -\

+ C



